Chris and Molly win money in a competition.
They share the money in the ratio 2 : 3
Molly receives £240.

(a2) How much money does Chris receive?

QO x L — 16O

e 189
(2)
(b) How much money did they win in the competition?
2. OO0 .
(1)
F Work out
Give your answer as a decimal.
L I
Q" 7 (eco
....... .0l
(2)
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Solve 4y +1=6y+26

© CORBETTMATHS 2019

-L*:ﬂ \’-'L\d‘\'ue —f\-\\\j
i - LS = L:j g T
S -\ S = j T L
y = _‘LS ..............
(2)
Lqg
A straight line L is shown on the grid.
VA
6
5
4
3
2
1
of 1 2 3 4 x
Work out the equation of line L
e ¥ s
3)



70. (a) Complete the table of values fory = x® — 2x + 3

(2
(b) On the grid, draw the graph of y=x®-2x + 3 for the values of x
2=<x=2
Ya
i L 17 { 13 !
H | |
* -6 , / |
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- - / :
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HH (
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2
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Iron has a density of 7.8g/cm3.
A solid iron statue has a mass of 877.5¢.
Work out the volume of the statue.

V= & BRF: 5
a 3.
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A box is placed on the floor.

The area of the box in contact with the floor is 2.4m?2
Pressure exerted on the floor 16 newtons/m?2

Work out the force exerted by the box on the floor.

4 = Px A

= x4 X2 W%
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A cone has base radius 5cm and perpendicular height 9cm.

Volume of cone =1nrn

Curved surface area of cone =17/

A\

Work out the volume of the cone.

—2;; x T xSt x 9§

©)
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" (4) ()

Work out 3a-b
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Shown below are six triangles that are not drawn accurately.

F
D
64°
4.6cm
L 45°
Y F

4 6cm

7L

Which two triangles are congruent to triangle A?
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A
(0.8) %
]

The lines A and B are parallel.

The line A passes through the point (0, 8)
The line B has equationy = 3x + 4

Write down the equation of line A
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Write down the exact value of Sin 30°

© CORBETTMATHS 2019



%
5.2cm Not drawn accurately
/"’ *
6cm

10.8cm

Calculate the area of the trapezium.

© CORBETTMATHS 2019




Write these numbers in order of size.

Start with the smallest number.
"2 & w i
0.92 0.901 0.99

v
0.099

-
0.909

Q.09% , ©0.90 0808 o A1, Q8%

..................................................................................................................




Complete the table.

Fraction Decimal Percentage
R | "
‘,Z& QIS 85%

%
- 0.12 ‘o
23

25

oy AL K.

(4)



A manager surveys his employees to find out how they travel to work.
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(@) What is the least popular method of transport?

(1)

(b) What is the most popular method of transport?

ol

(1)

(c) Calculate the total number of employees.

O

0 2 4B + 11 &

@




Here are 6 diagrams and 6 labels.
In the diagram the centre of the circle is shown with a dot.

Match each diagram to its label.
One has been done for you.

Label Diagram

Circle and radius @

Circle and segment

Circle and arc

Circle and diameter

Circle and tangent

Circle and chord

(4)




RS

g .

\13

3

59 1+
b4

4

To find the contents of each empty box, multiply the two terms directly beneath it.

Complete the multiplication pyramid.

(3)



74

Simplify  9h + 5k + 4h — 8k
Qh+ Ll +S -3k

- 5w -5k




Not to scale

Tile

3m Wall 50cm

om

Mollie is tiling her bathroom wall.
The wall is 6m by 3m.

Each square tile is 50cm by 50cm.
Each tile cost £4.

Calculate the cost of tiling the wall.

A({,OL of wod = Ex6 = IR &
7259
Avea of  tle = 0.$x0.S=0.25mM

32 x4 =

|

4\
4 bx 1= FT Hiles

— 7 —

™~
S
R

71 « ¥



b

(@  Write down two multiples of 7.

(1)
(b)  Write down two multiples of 9.

.......... ‘% and Z)Ko
(1)

(c)  Write down a number which is a multiple of both 7 and 9.

2D X, G L, AR, 3S, a, wS %
G

o , LS , . 25T o bl ( 1)

q > A, LA, B, 4S, 54,652 %)\ ]




Jessica wants to attach ribbon around her wardrobe.

2
;m

3
17m

She has 4 metres of ribbon.

How much more does she need?
Give your answer as a fraction.

3
‘:_{_‘g‘\‘\g\,*}s’:“—‘



%2
Input x 3 [ z ]—} Output

(a) Find the output, if the input is 2.

2 ¥
X T VS 3 9
- 22 2 K
SR = E - T .TS - &%
S
..... s
(3)
(b) Find the input, if the output is 2
| =B
z * % 3
L
3 &4 T Tq Y
Q




y=w - 2a2

w =400
a=5

Work out the value of y.

400 - 2.(S™)

. Ll = 0

z BRSO




A rugby team can win, draw or lose a match.
The table shows the probabilities of each result.

Result Win | Draw | Lose

Probability | 0.4 |0.35 | O.1S

(@) Calculate the missing probability in the table.

l-Q.4- 0.5

Each win is worth 2 points.
Each draw is worth 1 point.
Each loss is worth 0 points.
The rugby team plays 20 games in a season.

(b) Work out how many points the rugby team should receive in one season.

20 x .4 = R

270 x 0.8 = &+

LXL = 1%
2T vz X

I <4 X = @)



g

The distance from Leek to Milton is 310 miles.
A train travels this distance in 4 hours 15 minutes.

Calculate the average speed of the train.

@ 0 Q | .
o oV SR VHL .-
Q - = = L
4+ - 4y Wy IS




Two numbers are in the ratio 3:7

One of the numbers is 42

There are two possible values for the other number.
What are the two possible values?

=& ¥l = Ly

27 % Wy = WL
X TG = Q\%

Q. DOSTWble volues are 1R+ AR




Sarah bought a TV for £250
Three years later she sold it for £180

Work out her percentage loss

2 SQ -'Y3Q -
O
¥ 10Q =
g v

EYe

2%/




9Fcm

— Hcm
Bocm o
\ 2L

Work out the surface area of this cuboid.
State the units of your answer.

G xit = 0%

T Xt = 1uy
10 X L4 = Wi
X L= 218%
LI v 1K =




Shown below is a solid shape made from centimetre cubes.

/

Front

(a) On the centimetre square grid, draw the front elevation.

()

(b) On the centimetre square grid, draw the plan view.

()



8cm

Calculate the perimeter of the sector.

\ , g ; ,
- — X L XTXR® = (..56Cy.. .
A(c \uxﬁm- G

P: 12.S6LYy + 4+

= Q_%~S(:Q>'Lf'~

...... Q %écm

(2



120°
8cm
Calculate the area of the sector.
1O
Aeo. - L= y Tx3*
R0

=, G, OLQQLT




‘1 g A number, n, is rounded to 1 decimal place.
The result is 1.3

Using inequalities, write down the error interval for n.

1 1S E e V55




<S5

A supermarket sells Baked Beans in two different size cans.

215g 395¢
40p 74p

Which size can is the best value for money?
You must show all your working.

; Q'IS:) - HOP%ZuS
—21S
4O

Ij N 2 1.5

| kg = i8¢p = £i1.8L

3953: :.l/+/3
g M
J7 o5

[ k9= 18%p = L1 33

7716, QlSﬂ COun ‘IS beﬁa\/odug,

(4)



09

Work out

4J 100 - 2.43

Write down all the figures from your calculator display.




The sizes of the interior angles of a triangle are in the ratio 1:3:8
Calculate the difference in size between the largest and smallest angles.

,4/19/58 1 N -#v:a/g/e. add +to 180°
l + Hw ¥ = 1L
IBQ - (L = \S
Sraalie sk Qngle = 3 xS = 1SS
\oxgc&rt onle = XIS = 12.C°

C

12Q —1S = 105




767 L On the grid, draw x + 2y = 6 for values of x from -2 to 2.

X'O\ 2 -l -2
fjl% 25 2 35 4

ur

-

e
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